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i Grey line: exponential fit Peak flux: 2.175+/- 0.508 c/s/cm? j
C Black line: power law + gauss fit Fluence : 11.77+/- 2.64 c/lcm? n
- Dashed line: power law o ) ) —
- Duration: 16.13+/- 5.37 s T
C Best fit model: 1. ]
- Best fluence model: 1. B
- } Best duration model: 1. m
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= Power law index: -1.611+/- 0.360 (chi’-red= 0.99) 3
=l + ol | i o
= Wﬁ%ﬁﬂmﬁ %*“*+*+*1ﬂﬂﬁﬂ***j++*%+*H+*+***Wﬁﬁﬁ“ﬁﬂ#ﬁ“*ﬁmgH*“*+*H*ﬂﬁﬁﬂ%*ﬁﬁ*ﬂ*ﬁﬁ*Hﬁﬁw*HH*Hﬁ**“***+*****WHHW+fW***H*++*+THHHW#T*H**+W*W *Hﬂﬂ%
i T T T T T T T T T T T T T T T T T T T T T i
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